CITY OF LAWRENCE
City Bid No. B1214
Project No. PW1126
Delaware Street, 8th to 9th (Section 1)
Poehler Parking Lot (Section 2)
BID TAB
February 21, 2012
Engineer's Estimate \$1,144,008.34

				King's Construct	ion Co., Inc.	R.D. Johnson Excavating Co., Inc.	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Delaware Street, 8th to 9th (Section 1)						
1	MOBILIZATION	LS	1	\$17,500.00	\$17,500.00	\$11,131.50	\$11,131.50
2	DEMOLITION AND REMOVAL	LS	1	\$10,000.00	\$10,000.00	\$16,460.00	\$16,460.00
3	CLEARING & GRUBBING	LS	1	\$2,000.00	\$2,000.00	\$2,960.00	\$2,960.00
4	UNCLASSIFIED EXCAVATION	CY	1,143	\$22.80	\$26,060.40	\$15.40	\$17,602.20
5	COMPACTION OF EARTHWORK	CY	708	\$5.00	\$3,540.00	\$1.70	\$1,203.60
6	SUBGRADE STABILIZATION (FLY ASH) (9")	SY	3,409	\$4.00	\$13,636.00	\$4.10	\$13,976.90
7	ASPHALT PAVEMENT (SURFACE COURSE) (2")*	TONS	210	\$69.35	\$14,563.50	\$66.30	\$13,923.00
8	ASPHALT PAVEMENT (BASE COURSE) (3")*	TONS	629	\$61.45	\$38,652.05	\$60.00	\$37,740.00
9	ASPHALT PAVEMENT (BASE COURSE) (2")*	TONS	262	\$61.45	\$16,099.90	\$60.00	\$15,720.00
10	CONCRETE PAVEMENT (FIBER FEINFORCED) (6") (PATCHING)	SY	60	\$40.25	\$2,415.00	\$31.30	\$1,878.00
11	ASPHALT PAVEMENT (VARIABLE THICKNESS) (PATCHING)	TONS	141	\$99.75	\$14,064.75	\$83.00	\$11,703.00
12	CONCRETE PAVEMENT (NON-REINFORCED DOWEL JOINTED) (8")	SY	1,422	\$53.25	\$75,721.50	\$41.00	\$58,302.00
13	COMMERCIAL DRIVEWAYS (CONCRETE) (8")	SY	396	\$44.25	\$17,523.00	\$45.00	\$17,820.00
14	SIDEWALK (CONCRETE) (5'X4")	SY	338	\$29.00	\$9,802.00	\$24.00	\$8,112.00
15	SIDEWALK (CONCRETE) (8'X6")	SY	513	\$35.00	\$17,955.00	\$30.00	\$15,390.00
16	SIDEWALK RAMP (6")	SY	86	\$180.00	\$15,480.00	\$86.00	\$7,396.00
17	CURB & GUTTER (TYPE 1)	LF	1,407	\$15.00	\$21,105.00	\$11.70	\$16,461.90
18	CURB & GUTTER (TYPE 2)	LF	424	\$15.00	\$6,360.00	\$11.70	\$4,960.80
19	FLOWABLE FILL/MORTAR (STORM SEWER)	CY	1,842	\$62.00	\$114,204.00	\$67.00	\$123,414.00
20	STORM SEWER STRUCTURE INSTALLATION** (STANDARD CURB INLET) (6'X4')	EACH	1	\$1,100.00	\$1,100.00	\$1,800.00	\$1,800.00
21	STORM SEWER STRUCTURE INSTALLATION** (STANDARD CURB INLET) (8'X4')	EACH	2	\$1,200.00	\$2,400.00	\$1,800.00	\$3,600.00
22	STORM SEWER STRUCTURE INSTALLATION** (SPECIAL CURB INLET WITH OPEN BACK) (6'X6')	EACH	1	\$2,500.00	\$2,500.00	\$2,300.00	\$2,300.00
23	STORM SEWER STRUCTURE INSTALLATION** (SPECIAL CURB INLET) (6'X7')	EACH	2	\$1,100.00	\$2,200.00	\$2,300.00	\$4,600.00
24	STORM SEWER STRUCTURE INSTALLATION** (SPECIAL CURB INLET) (8'X6.5')	EACH	1	\$1,300.00	\$1,300.00	\$2,300.00	\$2,300.00
25	STORM SEWER STURCTURE INSTALLATION** (SPECIAL CURB INLET) (6'X6')	EACH	1	\$1,100.00	\$1,100.00	\$2,300.00	\$2,300.00
26	STORM SEWER STURCTURE INSTALLATION** (STANDARD JUNCTION BOX) (4'X8')	EACH	1	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00
27	STORM SEWER STURCTURE INSTALLATION** (STANDARD JUNCTION BOX) (5'X7')	EACH	1	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00
28	STORM SEWER STURCTURE INSTALLATION** (SPECIAL JUNCTION BOX) (7'X7')	EACH	1	\$1,300.00	\$1,300.00	\$2,500.00	\$2,500.00
29	STORM SEWER STURCTURE INSTALLATION AND SUPPLY (SPECIAL JUNCTION BOX) (9'X9')	EACH	1	\$4,000.00	\$4,000.00	\$33,000.00	\$33,000.00
30	STORM SEWER STURCTURE INSTALLATION** (STANDARD 4' DIA MANHOLE)	EACH	2	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00
31	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (15*)	LF	32	\$24.00	\$768.00	\$39.00	\$1,248.00
32	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (18")	LF	17	\$28.00	\$476.00	\$40.00	\$680.00
33	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (24*)	LF	145	\$34.00	\$4,930.00	\$35.00	\$5,075.00
34	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (42")	LF	171	\$50.00	\$8,550.00	\$50.00	\$8,550.00
35	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (48")	LF	304	\$60.00	\$18,240.00	\$55.00	\$16,720.00
36	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (54")	LF	597	\$75.00	\$44,775.00	\$110.00	\$65,670.00
37	WATER LINE PIPE (DUCTILE IRON PIPE) (8")	LF	759	\$60.00	\$45,540.00	\$53.00	\$40,227.00
38	WATER LINE VALVE (GATE) (8")	EACH	3	\$1,250.00	\$3,750.00		\$2,670.00
39	WATER LINE FITTING (MJ TEE) (8"X8")	EACH	2	\$750.00	\$1,500.00	\$550.00	\$1,100.00
40	WATER LINE FITTING (REDUCER) (8'X6")	EACH	1	\$500.00	\$500.00	\$315.00	\$315.00
41	WATER LINE FITTING (MJ 90 DEGREE BEND) (8")	EACH	4	\$500.00	\$2,000.00	\$550.00	\$2,200.00
42	WATER LINE FITTING (MJ PLUG) (8")	EACH	3	\$500.00	\$1,500.00	\$330.00	\$990.00
43	WATER LINE FITTING (MJ PLUG) (6")	EACH	1	\$500.00	\$500.00	\$230.00	\$230.00
44	TAP (8")	EACH	2	\$1,000.00	\$2,000.00	\$2,400.00	\$4,800.00
45	WATER LINE CONNECTIONS (MAIN LINE)	EACH	6	\$3,000.00	\$18,000.00	\$680.00	\$4,080.00
46	WATER LINE CONNECTIONS (SERVICE)	EACH	2	\$2,500.00	\$5,000.00		\$2,820.00
47	FIRE HYDRANT ASSEMBLY INSTALLATION	EACH	2	\$2,500.00	\$5,000.00	\$3,300.00	\$6,600.00
48	FLOWABLE FILL/MORTAR (WATERLINE)	CY	178	\$62.00	\$11,036.00	\$65.00	\$11,570.00
49	TRAFFIC CONTROL	LS	1	\$5,500.00	\$5,500.00	\$7,800.00	\$7,800.00
50	PAVEMENT MARKING (PERMANENT) (SOLID WHITE LINE STOP BAR) (24")	LF	24	\$15.00	\$360.00	\$16.00	\$384.00
51	PAVEMENT MARKING (PERMANENT) (SOLID DOUBLE YELLOW LINE) (4*)	LF	599	\$2.25	\$1,347.75	\$2.30	\$1,377.70
52	PAVEMENT MARKING (PERMANENT) (WHITE CROSS WALK) (3'X10')	LF	5	\$50.00	\$250.00	\$52.00	\$260.00

				King's Construction Co., Inc.		R.D. Johnson Excavating Co., Inc.	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
53	PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4")	LF	677	\$2.25	\$1,523.25	\$2.30	\$1,557.10
54	PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL)	EACH	2	\$195.00	\$390.00	\$203.00	\$406.00
55	PERMANENT SIGNAGE (R1-1) (30"X30")	EACH	2	\$250.00	\$500.00	\$260.00	\$520.00
56	PERMANENT SIGNAGE (ACCESSIBLE SIGN) (18"X9")	EACH	2	\$75.00	\$150.00	\$78.00	\$156.00
57	SEEDING (TEMPORARY)	AC	0.50	\$1,000.00	\$500.00	\$1,480.00	\$740.00
58	SEEDING (PERMANENT)	AC	0.50	\$1,500.00	\$750.00	\$4,533.00	\$2,266.50
59	2.5" RED OAK	EACH	5	\$400.00	\$2,000.00	\$453.00	\$2,265.0
60	2.5" HONEY LOCUST 'IMPERIAL'	EACH	2	\$450.00	\$900.00	\$450.00	\$900.0
61	2.5" GREENSPIRE LINDEN	EACH	15	\$450.00	\$6,750.00	\$380.00	\$5,700.0
62	2.5" AUTUMN FANTASY MAPLE	EACH	7	\$475.00	\$3,325.00	\$410.00	\$2,870.00
63	2.5" SHADEMASTER HONEY LOCUST	EACH	1	\$400.00	\$400.00	\$390.00	\$390.0
64	MODULAR RETAINING WALL	SF	269	\$35.00	\$9,415.00	\$41.00	\$11,029.0
65	HAND RAIL	LF	52	\$125.00	\$6,500.00	\$105.00	\$5,460.0
66	SEDIMENT FENCE	LF	78	\$1.75	\$136.50	\$4.30	\$335.4
67	INLET PROTECTION	EACH	8	\$125.00	\$1,000.00	\$130.00	\$1,040.0
68	EROSION CONTROL (CLASS 2) (TYPE E)	SY	182	\$6.00	\$1,092.00	\$4.70	\$855.4
69	CONSTRUCTION STAKING	LS	1	\$4,500.00	\$4,500.00	\$9,925.00	\$9,925.0
70	PULL BOX CLASS 1	EACH	2	\$350.00	\$700.00	\$365.00	\$730.0
71	POWER SUPPLY (LIGHTING CONTROLLER)	EACH	1	\$5,950.00	\$5,950.00	\$6,200.00	\$6,200.0
72	2" CONDUIT	LF	1,300	\$8.00	\$10,400.00	\$8.30	\$10,790.0
73	#8 WIRE	LF	10	\$15.00	\$150.00	\$1.60	\$16.0
74	#10 WIRE	CLF	48	\$80.00	\$3,840.00	\$83.00	\$3,984.0
75	STREET LIGHT INSTALLATION**	EACH	17	\$1,000.00	\$17,000.00	\$1,050.00	\$17,850.0
			-				
		SECTIO	N 1 - TOTAL		\$716,376.60		\$727,907.0
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Poehler Parking Lot (Section 2)						
1	MOBILIZATION	LS	0	\$3,500.00	\$3,500.00	\$0.00	\$0.00
2	DEMOLITION AND REMOVAL	LS	1	\$2,500.00	\$2,500.00		\$3,300.0
3	CLEARING & GRUBBING	LS	1	\$500.00	\$500.00		\$1,300.0
4	COMPACTION OF EARTHWORK	CY	280	\$5.00	\$1,400.00		\$7,364.0
5 6	ASPHALT PAVEMENT (SURFACE COURSE) (2")*	TONS	224	\$69.55 \$60.45	\$15,579.20 \$27,081.60		\$15,568.0 \$27,776.0
7	ASPHALT PAVEMENT (BASE COURSE) (4")*	TONS	448	\$29.00	\$1,392.00		\$1,152.0
8	SIDEWALK (CONCRETE) (5'X4")	SY LF	48	\$15.00	\$8,475.00	\$11.70	\$6,610.5
9	CURB & GUTTER (TYPE 1) STORM SEWER STRUCTURE INSTALLATION** (ADAVANCED DRAINAGE SYSTEM CURB INLET)	EACH	565	\$500.00	\$1,500.00		\$5,625.0
10	STORM SEWER PIPE INSTALLATION** (18" PVC)	LF	150	\$22.00	\$3,300.00	\$28.00	\$4,200.0
11	STORM SEWER PIPE INSTALLATION** (24" PVC)	LF	40	\$27.00	\$1,080.00	\$36.00	\$1,440.0
12	TRAFFIC CONTROL	LS	1	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.0
13	PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4")	LF	1,080	\$1.00	\$1,080.00	\$1.00	\$1,080.0
14	PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL)	EACH	2	\$195.00	\$390.00	\$195.00	\$390.0
15	SEEDING (TEMPORARY)	AC	0.15	\$1,000.00	\$150.00	\$1,480.00	\$222.0
16	SEEDING (PERMANENT)	AC	0.15	\$1,500.00	\$225.00	\$4,540.00	\$681.0
17	2.5" SWAMP TREE OAK	EACH	2	\$450.00	\$900.00		\$910.0
18	2.5" GINKGO	EACH	3	\$550.00	\$1,650.00	\$490.00	\$1,470.0
19	2.5" GREENSPIRE LINDEN	EACH	1	\$450.00	\$450.00		\$380.0
20	2.5" LONDON PLANE TREE	EACH	1	\$500.00	\$500.00		\$370.0
21	2.5" BLAD CYPRESS	EACH	2	\$425.00 \$425.00	\$850.00 \$1,700.00	\$420.00 \$400.00	\$840.0 \$1,600.0
23	2.5" RIVER BIRCH	EACH	4	\$425.00 \$125.00	\$1,700.00	\$130.00	\$1,600.0
24	CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS	EACH	11	\$1,000.00	\$1,000.00		\$470.0
25	ADA SIGNAGE AND POSTS SEDIMENT FENCE	EACH LF	475	\$1.50	\$712.50	\$2.10	\$997.5
26	INLET PROTECTION	EACH	4/5	\$125.00	\$375.00		\$390.0
27	CONSTRUCTION STAKING	LS	1	\$2,500.00	\$2,500.00		\$1,770.0
28	SIDEWALK BASE (1" LEVELING COURSE ROCK)	SY	48	\$4.00	\$192.00	\$25.00	\$1,200.0
29	PARKING LOT LIGHT INSTALLATION**	EACH	4	\$1,250.00	\$5,000.00	\$1,300.00	\$5,200.0
30	2" CONDUIT	LF	230	\$8.00	\$1,840.00	\$8.30	\$1,909.0
31	1 1/2" CONDUIT	LF	70	\$8.00	\$560.00	\$8.30	\$581.0
32	3/4" CONDUIT	LF	15	\$8.00	\$120.00	\$8.30	\$124.5
33	#1 WIRE	LF	230	\$7.00	\$1,610.00	\$7.30	\$1,679.0
34	#10 WIRE	LF	550	\$1.00	\$550.00		\$605.0
35	#10 WIRE GRND.	LF	275	\$1.00	\$275.00	\$1.10	\$302.5
36	#8 WIRE GRND.	LF	15	\$1.50	\$22.50	\$1.60	\$24.0
37	JUNCTION BOX	EACH	1	\$350.00	\$350.00	\$365.00	\$365.0
		SECTIO	N 2 - TOTAL		\$92,684.80		\$101,426.0
		323110	TOTAL		ψ32,004.80		ψ101,420.U
GRAND TOTAL (SECTION 1 + SECTION 2)					\$809,061.40		\$829,333.0

CITY OF LAWRENCE
City Bid No. B1214
Project No. PW1126
Delaware Street, 8th to 9th (Section 1)
Poehler Parking Lot (Section 2)
BID TAB
February 21, 2012
Engineer's Estimate \$1,144,008.34

Kansas Heavy Construction, LLC

ITEM	DESCRIPTION Delouser Street Oth to Oth (Section 4)	UNIT	QUANTITY	UNIT PRICE	AMOUNT
4	Delaware Street, 8th to 9th (Section 1)			\$27.250.00	\$27.0F0.00
2	MOBILIZATION	LS	1	\$27,250.00 \$22,700.00	\$27,250.00
3	DEMOLITION AND REMOVAL	LS	1	\$2,500.00	\$22,700.00 \$2,500.00
	CLEARING & GRUBBING	LS	1	£20.00	
4	UNCLASSIFIED EXCAVATION	CY	1,143	\$2.20	\$22,860.00
5	COMPACTION OF EARTHWORK	CY	708	¢5.00	\$2,336.40
6	SUBGRADE STABILIZATION (FLY ASH) (9")	SY	3,409		\$17,045.00 \$15,540.00
7	ASPHALT PAVEMENT (SURFACE COURSE) (2")*	TONS	210	\$74.00 \$65.00	
	ASPHALT PAVEMENT (BASE COURSE) (3")*	TONS	629	·	\$40,885.00
9	ASPHALT PAVEMENT (BASE COURSE) (2")*	TONS	262	\$65.00	\$17,030.00 \$3,120.00
10	CONCRETE PAVEMENT (FIBER FEINFORCED) (6") (PATCHING)	SY	60	\$52.00 \$85.00	\$11,985.00
	ASPHALT PAVEMENT (VARIABLE THICKNESS) (PATCHING)	TONS	141	\$46.80	
12	CONCRETE PAVEMENT (NON-REINFORCED DOWEL JOINTED) (8")	SY	1,422	040.00	\$66,549.60
13	COMMERCIAL DRIVEWAYS (CONCRETE) (8")	SY	396		\$19,404.00
14	SIDEWALK (CONCRETE) (5'X4")	SY	338		\$9,295.00
15	SIDEWALK (CONCRETE) (8'X6")	SY	513	\$33.00	\$16,929.00
16	SIDEWALK RAMP (6")	SY	86		\$11,180.00
17	CURB & GUTTER (TYPE 1)	LF	1,407	\$14.80	\$20,823.60
18	CURB & GUTTER (TYPE 2)	LF	424	\$13.80 \$80.00	\$5,851.20
19	FLOWABLE FILL/MORTAR (STORM SEWER)	CY	1,842		\$147,360.00
20	STORM SEWER STRUCTURE INSTALLATION** (STANDARD CURB INLET) (6'X4')	EACH	1	\$1,190.00	\$1,190.00
21	STORM SEWER STRUCTURE INSTALLATION** (STANDARD CURB INLET) (8'X4')	EACH	2	\$1,440.00	\$2,880.00
22	STORM SEWER STRUCTURE INSTALLATION** (SPECIAL CURB INLET WITH OPEN BACK) (6'X6')	EACH	1	\$2,325.00	\$2,325.00
23	STORM SEWER STRUCTURE INSTALLATION** (SPECIAL CURB INLET) (6'X7')	EACH	2		\$4,568.00
24	STORM SEWER STRUCTURE INSTALLATION** (SPECIAL CURB INLET) (8'X6.5')	EACH	1	\$2,284.00	\$2,284.00
25	STORM SEWER STURCTURE INSTALLATION** (SPECIAL CURB INLET) (6'X6')	EACH	1	\$2,148.00	\$2,148.00
26	STORM SEWER STURCTURE INSTALLATION** (STANDARD JUNCTION BOX) (4'X8')	EACH	1	\$1,440.00	\$1,440.00
27	STORM SEWER STURCTURE INSTALLATION** (STANDARD JUNCTION BOX) (5'X7')	EACH	1	\$1,840.00	\$1,840.00
28	STORM SEWER STURCTURE INSTALLATION** (SPECIAL JUNCTION BOX) (7'X7')	EACH	1	\$2,340.00	\$2,340.00
29	STORM SEWER STURCTURE INSTALLATION AND SUPPLY (SPECIAL JUNCTION BOX) (9'X9')	EACH	1	£4.000.00	\$12,580.00 \$2,120.00
	STORM SEWER STURCTURE INSTALLATION** (STANDARD 4' DIA MANHOLE)	EACH	2	£07.00	
31	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (15")	LF	32	\$27.00 \$35.00	\$864.00 \$595.00
33	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (18")	LF	17	605.00	\$5,162.00
34	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (24")	LF	145	\$49.50	\$8,464.50
35	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (42")	LF	171	\$00.00	\$27,360.00
36	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (48")	LF	304	\$100.00	\$59,700.00
37	STORM SEWER PIPE INSTALLATION** (CLASS III RCP) (54")	LF	597	\$42.00	\$39,700.00
38	WATER LINE PIPE (DUCTILE IRON PIPE) (8")	LF	759	£4 700 00	\$5,100.00
	WATER LINE VALVE (GATE) (8")	EACH	3	\$500.00	\$1,000.00
39	WATER LINE FITTING (MJ TEE) (8"X8")	EACH	2	\$485.00	\$485.00
40	WATER LINE FITTING (REDUCER) (8'X6")	EACH	1		\$1,200.00
42	WATER LINE FITTING (MJ 90 DEGREE BEND) (8")	EACH	4	\$250.00	\$750.00
	WATER LINE FITTING (MJ PLUG) (8")	EACH	3		
43	WATER LINE FITTING (MJ PLUG) (6")	EACH	1	\$230.00	\$230.00
44	TAP (8")	EACH	2		\$8,200.00
45	WATER LINE CONNECTIONS (MAIN LINE)	EACH	6	\$2,000,00	\$9,600.00
46	WATER LINE CONNECTIONS (SERVICE)	EACH	2	\$4.200.00	\$6,000.00
47	FIRE HYDRANT ASSEMBLY INSTALLATION	EACH	2		\$8,400.00
48	FLOWABLE FILL/MORTAR (WATERLINE)	CY	178		\$15,664.00
49	TRAFFIC CONTROL	LS	1	\$5,500.00	\$5,500.00
50	PAVEMENT MARKING (PERMANENT) (SOLID WHITE LINE STOP BAR) (24")	LF	24	¢2.25	\$360.00
51	PAVEMENT MARKING (PERMANENT) (SOLID DOUBLE YELLOW LINE) (4")	LF	599		\$1,347.75
52	PAVEMENT MARKING (PERMANENT) (WHITE CROSS WALK) (3'X10')	LF	5	\$50.00	\$250.00

				randa ridavy e	onstruction, EEC
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	AMOUNT
53	PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4")	LF	677	\$2.25	\$1,523.25
54	PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL)	EACH	2	\$195.00	\$390.00
55				\$250.00	\$500.00
56	PERMANENT SIGNAGE (R1-1) (30"X30")	EACH	2	\$75.00	\$150.00
57	PERMANENT SIGNAGE (ACCESSIBLE SIGN) (18"X9")	EACH	2	\$1,800.00	\$900.00
	SEEDING (TEMPORARY)	AC	0.50		
58	SEEDING (PERMANENT)	AC	0.50	\$1,800.00	\$900.00
59	2.5" RED OAK	EACH	5	\$440.00	\$2,200.00
60	2.5" HONEY LOCUST 'IMPERIAL'	EACH	2	\$365.00	\$730.00
61	2.5" GREENSPIRE LINDEN	EACH	15	\$380.00	\$5,700.00
62	2.5" AUTUMN FANTASY MAPLE	EACH	7	\$440.00	\$3,080.00
63			1	\$430.00	\$430.00
64	2.5" SHADEMASTER HONEY LOCUST	EACH		\$32.00	\$8,608.00
	MODULAR RETAINING WALL	SF	269	\$120.00	\$6,240.00
65	HAND RAIL	LF	52		
66	SEDIMENT FENCE	LF	78		\$195.00
67	INLET PROTECTION	EACH	8	\$100.00	\$800.00
68	EROSION CONTROL (CLASS 2) (TYPE E)	SY	182	\$11.00	\$2,002.00
69	CONSTRUCTION STAKING	LS	1	\$8,500.00	\$8,500.00
70	PULL BOX CLASS 1	EACH	2	\$350.00	\$700.00
71			_	\$7,000.00	\$7,000.00
	POWER SUPPLY (LIGHTING CONTROLLER)	EACH	1		
72	2" CONDUIT	LF	1,300	\$8.00	\$10,400.00
73	#8 WIRE	LF	10	\$1.50	\$15.00
74	#10 WIRE	CLF	48	\$80.00	\$3,840.00
75	STREET LIGHT INSTALLATION**	EACH	17	\$1,100.00	\$18,700.00
		SECTION	ON 1 - TOTAL		\$797,972.30
					* * 7
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	AMOUNT
IIEW		UNII	QUANTITY	UNIT PRICE	AWOUNT
	Poehler Parking Lot (Section 2)			00.00	* 0.00
	MOBILIZATION	LS	0		\$0.00
2	DEMOLITION AND REMOVAL	LS	1	\$10,000.00	\$10,000.00
3	CLEARING & GRUBBING	LS	1	\$1,250.00	\$1,250.00
4	COMPACTION OF EARTHWORK	CY	280	\$10.00	\$2,800.00
5	ASPHALT PAVEMENT (SURFACE COURSE) (2")*	TONS	224	\$74.00	\$16,576.00
6	ASPHALT PAVEMENT (BASE COURSE) (4")*	TONS	448	\$65.00	\$29,120.00
7	SIDEWALK (CONCRETE) (5'X4")	SY	48	\$38.00	\$1,824.00
8	CURB & GUTTER (TYPE 1)	LF	565	\$18.00	\$10,170.00
9	STORM SEWER STRUCTURE INSTALLATION** (ADAVANCED DRAINAGE SYSTEM CURB INLET)	EACH	3	\$2,700.00	\$8,100.00
10	STORM SEWER PIPE INSTALLATION** (18" PVC)	LF	150	\$36.00	\$5,400.00
-	or or the devent in a morniage trion (no 1 vo)				
11	STORM SEWER PIPE INSTALL ATION** (24" PVC)			\$50.00	\$2,000.00
11	STORM SEWER PIPE INSTALLATION** (24* PVC)	LF	40		
12	TRAFFIC CONTROL	LF LS	40	\$50.00 \$2,000.00	\$2,000.00
12 13	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4")	LF LS LF	1,080	\$50.00 \$2,000.00 \$1.00	\$2,000.00 \$1,080.00
12 13 14	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL)	LF LS LF EACH	1,080 2	\$50.00 \$2,000.00 \$1.00 \$250.00	\$2,000.00 \$1,080.00 \$500.00
12 13 14 15	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY)	LF LS LF EACH	40 1 1,080 2 0.15	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00
12 13 14 15 16	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT)	LF LS LF EACH AC	40 1 1,080 2 0.15	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00
12 13 14 15 16	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK	LF LS LF EACH	40 1,080 2 0.15 0.15	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$400.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00
12 13 14 15 16 17	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT)	LF LS LF EACH AC	40 1 1,080 2 0.15	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$400.00 \$440.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$800.00
12 13 14 15 16 17 18	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK	LF LS LF EACH AC AC EACH	40 1,080 2 0.15 0.15	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$400.00 \$440.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$800.00 \$1,320.00
12 13 14 15 16 17 18 19 20	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO	LF LS LF EACH AC AC EACH EACH	40 1,080 2 0.15 0.15	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$400.00 \$440.00 \$350.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$800.00 \$1,320.00 \$400.00
12 13 14 15 16 17 18	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN	LF LS LF EACH AC AC EACH EACH EACH	40 1,080 2 0.15 0.15 2 3	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$400.00 \$440.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$800.00 \$1,320.00
12 13 14 15 16 17 18 19 20	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE	LF LS LF EACH AC AC EACH EACH EACH	40 1,080 2 0.15 0.15 2 3 1	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$400.00 \$440.00 \$350.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$800.00 \$1,320.00 \$400.00
12 13 14 15 16 17 18 19 20 21	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS	LF LS LF EACH AC AC EACH EACH EACH EACH	40 1,080 2 0.15 0.15 2 3 1	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$2,400.00 \$440.00 \$400.00 \$350.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$1,320.00 \$400.00 \$350.00
12 13 14 15 16 17 18 19 20 21	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH	LF LS LF EACH AC AC EACH EACH EACH EACH EACH	40 1,080 2 0.15 0.15 2 3 1 1 2	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$2,400.00 \$440.00 \$400.00 \$350.00 \$350.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$1,320.00 \$400.00 \$350.00 \$800.00
12 13 14 15 16 17 18 19 20 21 22 23	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0.15 0.15 2 3 1 1 2 4 4	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$2,400.00 \$440.00 \$400.00 \$350.00 \$350.00 \$235.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$360.00 \$1,320.00 \$400.00 \$350.00 \$400.00 \$2,585.00
12 13 14 15 16 17 18 19 20 21 22 23 24	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0.15 0.15 2 3 1 1 2	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$400.00 \$440.00 \$400.00 \$350.00 \$350.00 \$235.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$360.00 \$1,320.00 \$400.00 \$350.00 \$800.00 \$2,585.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4*) PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0.15 0.15 2 3 1 1 2 4 4 11 475	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$2,400.00 \$400.00 \$440.00 \$400.00 \$350.00 \$400.00 \$350.00 \$235.00 \$222.20	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$360.00 \$400.00 \$350.00 \$400.00 \$2,585.00 \$450.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4*) PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0.15 0.15 2 3 1 1 1 2 4 11 475 3	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$2,400.00 \$400.00 \$440.00 \$350.00 \$400.00 \$350.00 \$235.00 \$450.00 \$2.20	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$360.00 \$400.00 \$350.00 \$400.00 \$2,585.00 \$4,400.00 \$2,585.00 \$4,040.00 \$300.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK)	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 4 1 475 3 1 48	\$50.00 \$2,000.00 \$1.00 \$250.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$350.00 \$450.00 \$235.00 \$450.00 \$2.20 \$100.00 \$1,850.00	\$2,000.00 \$1,080.00 \$500.00 \$360.00 \$360.00 \$800.00 \$1,320.00 \$400.00 \$350.00 \$400.00 \$2,585.00 \$4,400.00 \$2,585.00 \$4,400.00 \$3,000 \$1,400.00 \$3,000 \$3,000 \$3,000 \$3,000 \$3,000
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION"*	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 4 4 11 475 3 1 48 4	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$400.00 \$350.00 \$400.00 \$450.00 \$1,500.00 \$1,850.00 \$6,50	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$350.00 \$400.00 \$1,320.00 \$400.00 \$1,400.00 \$2,585.00 \$450.00 \$1,045.00 \$310.00 \$1,850.00 \$312.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION"* 2" CONDUIT	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 2 4 11 1 475 3 1 48 4 230	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$400.00 \$400.00 \$400.00 \$1,500.00 \$2,20 \$1,650.00 \$1,850.00 \$6,50 \$1,500.00 \$8.00	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$350.00 \$400.00 \$350.00 \$400.00 \$1,400.00 \$2,585.00 \$450.00 \$1,045.00 \$310.00 \$1,850.00 \$1,850.00 \$1,850.00 \$1,850.00 \$1,850.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION"* 2" CONDUIT 1 1/2" CONDUIT	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 11,080 20,0.15 0.15 23 31 11 12 44 111 475 31 148 48 230 70	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$455.00 \$355.00 \$455.00 \$2,20 \$100.00 \$1,850.00 \$8.00 \$8.00	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$350.00 \$400.00 \$350.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,045.00 \$300.00 \$1,850.00 \$312.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION" 2" CONDUIT 1 1/2" CONDUIT 3/4" CONDUIT	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 2 4 11 475 3 1 48 4 230 70	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$400.00 \$350.00 \$400.00 \$400.00 \$350.00 \$400.00 \$350.00 \$450.00 \$2.20 \$1100.00 \$1,850.00 \$6.50 \$1,500.00 \$8.00 \$8.00	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$4,00.00 \$350.00 \$400.00 \$1,400.00 \$2,585.00 \$450.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION"* 2" CONDUIT 1 1/2" CONDUIT	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 11,080 20,0.15 0.15 23 31 11 12 44 111 475 31 148 48 230 70	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$350.00 \$400.00 \$350.00 \$400.00 \$350.00 \$350.00 \$450.00 \$1,850.00 \$1,500.00 \$8.00 \$8.00 \$8.00 \$7.00	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$4,00.00 \$350.00 \$400.00 \$1,400.00 \$2,585.00 \$450.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION" 2" CONDUIT 1 1/2" CONDUIT 3/4" CONDUIT	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 2 4 11 475 3 1 48 4 230 70	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$350.00 \$400.00 \$350.00 \$400.00 \$350.00 \$450.00 \$2,20 \$100.00 \$1,850.00 \$6,50 \$1,500.00 \$8,00 \$8,00 \$7,00 \$1,00	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$4,00.00 \$350.00 \$4,00.00 \$1,400.00 \$2,585.00 \$4,00.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00 \$1,840.00 \$5,000.00 \$1,840.00 \$5,000.00 \$1,840.00 \$5,000.00 \$1,840.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION** 2" CONDUIT 1 1/2" CONDUIT #1 WIRE	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 2 4 11 475 3 1 48 4 2330 70 15 230	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$355.00 \$400.00 \$455.00 \$1,500.00 \$1,850.00 \$8.00 \$8.00 \$8.00	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$4,00.00 \$350.00 \$400.00 \$1,400.00 \$2,585.00 \$450.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00 \$1,840.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION** 2" CONDUIT 1 1/2" CONDUIT 34" CONDUIT #1 WIRE #10 WIRE	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 2 4 11 475 3 1 48 4 230 70 15 230	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$350.00 \$400.00 \$350.00 \$400.00 \$350.00 \$450.00 \$2,20 \$100.00 \$1,850.00 \$8.00 \$8.00 \$8.00 \$7.00 \$1.00 \$2.20	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$4,00.00 \$350.00 \$400.00 \$1,400.00 \$2,585.00 \$4,00.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00 \$1,840.00 \$3,00.00 \$1,850.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00 \$3,00.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION** 2" CONDUIT 1 1/2" CONDUIT #1 WIRE #10 WIRE #10 WIRE GRND.	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 2 4 11 475 3 1 48 4 230 70 15 230 550 275	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$350.00 \$400.00 \$350.00 \$450.00 \$1,850.00 \$1,500.00 \$8.00 \$5,700 \$1,000 \$1,000	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$4,00.00 \$350.00 \$400.00 \$1,400.00 \$2,585.00 \$450.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00 \$1,840.00 \$560.00 \$1,840.00 \$2,585.00 \$3,585.00 \$3,585.00 \$3,585.00 \$3,585.00 \$3,585.00 \$3,585.00 \$3,585.00 \$3,585.00 \$3,585.00 \$3,585.00 \$3,585.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION** 2" CONDUIT 1 1/2" CONDUIT 3/4" CONDUIT #1 WIRE #10 WIRE GRND.	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 2 4 11 475 3 1 48 4 230 70 15 230 550 275	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$350.00 \$400.00 \$350.00 \$400.00 \$350.00 \$450.00 \$2,20 \$100.00 \$1,850.00 \$8.00 \$8.00 \$8.00 \$7.00 \$1.00 \$2.20	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$4,000.00 \$350.00 \$400.00 \$1,400.00 \$2,585.00 \$4,000.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00 \$1,840.00 \$312.00 \$312.00 \$310.00 \$310.00 \$310.00 \$310.00 \$310.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION** 2" CONDUIT 1 1/2" CONDUIT 3/4" CONDUIT #1 WIRE #10 WIRE GRND.	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 1,080 2 0,15 0,15 2 3 1 1 1 2 4 11 475 3 1 48 4 230 70 15 230 550 275	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$350.00 \$400.00 \$350.00 \$400.00 \$350.00 \$450.00 \$2,20 \$100.00 \$1,850.00 \$8.00 \$8.00 \$8.00 \$7.00 \$1.00 \$2.20	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$4,000.00 \$350.00 \$400.00 \$1,400.00 \$2,585.00 \$4,000.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00 \$1,840.00 \$312.00 \$312.00 \$310.00 \$310.00 \$310.00 \$310.00 \$310.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION** 2" CONDUIT 1 1/2" CONDUIT 3/4" CONDUIT #1 WIRE #10 WIRE GRND.	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 11,080 2 0.15 0.15 2 3 11 11 2 4 4 11 475 3 1 48 48 230 70 15 230 550 275 15	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$350.00 \$400.00 \$350.00 \$400.00 \$350.00 \$450.00 \$2,20 \$100.00 \$1,850.00 \$8.00 \$8.00 \$8.00 \$7.00 \$1.00 \$2.20	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$400.00 \$350.00 \$400.00 \$1,320.00 \$400.00 \$1,400.00 \$2,585.00 \$450.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00 \$1,840.00 \$560.00 \$1,840.00 \$312.00 \$310.00 \$1,840.00
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36	TRAFFIC CONTROL PAVEMENT MARKING (PERMANENT) (SOLID WHITE PARKING STALL) (4") PAVEMENT MARKING (PERMANENT) (ACCESSIBLE SYMBOL) SEEDING (TEMPORARY) SEEDING (PERMANENT) 2.5" SWAMP TREE OAK 2.5" GINKGO 2.5" GREENSPIRE LINDEN 2.5" LONDON PLANE TREE 2.5" BLAD CYPRESS 2.5" RIVER BIRCH CONCRETE WHEEL STOP ADA SIGNAGE AND POSTS SEDIMENT FENCE INLET PROTECTION CONSTRUCTION STAKING SIDEWALK BASE (1" LEVELING COURSE ROCK) PARKING LOT LIGHT INSTALLATION** 2" CONDUIT 1 1/2" CONDUIT 3/4" CONDUIT #1 WIRE #10 WIRE GRND.	LF LS LF EACH AC AC EACH EACH EACH EACH EACH EAC	40 11,080 2 0.15 0.15 2 3 11 11 2 4 4 11 475 3 1 48 48 230 70 15 230 550 275 15	\$50.00 \$2,000.00 \$1.00 \$2,400.00 \$2,400.00 \$2,400.00 \$440.00 \$440.00 \$350.00 \$400.00 \$350.00 \$400.00 \$350.00 \$450.00 \$2,20 \$100.00 \$1,850.00 \$8.00 \$8.00 \$8.00 \$7.00 \$1.00 \$2.20	\$2,000.00 \$1,080.00 \$360.00 \$360.00 \$360.00 \$360.00 \$400.00 \$400.00 \$350.00 \$400.00 \$1,320.00 \$400.00 \$1,400.00 \$2,585.00 \$450.00 \$1,045.00 \$312.00 \$6,000.00 \$1,840.00 \$1,840.00 \$560.00 \$1,840.00 \$312.00 \$310.00 \$1,840.00